
Time: 10 Minutes Paper Math 8 (T-5) Total Marks: 10

3rd Month, 2nd Week, 5th Day Review Exercise: Q# (14, 15, 16, 17)

 Answer the following questions: (2.5 ×4 = 10)  
Q.1. Faheem got his car insured at a rate of 3% profit. The worth of his car

Rs. 850000, Find the total amount paid as premium of rate of

defreciation is 10% per year. 

 850000  3 
 10 

Q.2. Aslam started a business with Rs. 35,000. After 3 months Akram joined

the business with Rs. 4000 and after 6 months Ashgar invested Rs. 5000.

At the end of the year, they earned a profit of Rs. 1620. Find the share

of each in the profit.

 6  4000  3  35000 
 1620  5000

Q.3. Asghar Ali died leaving  assets worth Rs. 625275. Funeral expenses were

Rs. 5275. He had to pay RS. 50,000 as debt. After making these

payments, his widow shall get  of the remaining property. Find the

share of his son and one daughter when share of of son is double the

share of his daughter.

 50000  5275  625275 
  


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